I = = v e R ] N BV I
it I | YGEAI1 DW(STEY) | YGEADIDW-2(UTEYD | YGCAOIWD,YGCA03WPE,YGCA03WLD
e = 260 260 1,750
S e o K —
I 1,240 390 600
(mm} —
24 ) 660 660 380
) Blkg) | 38 38 148
s B 8  flkcal/br) 4,000(2,550~4,000) #5835
B B 8  JSkecal/hn 6,500(3,900~6,500) #F 58 7 C
bR 2 2 138/ 1) 2.2
=5 BIVAC)] 100
%52 10.27(50) 10.30(60) |0.27(50) |0.30(60) 0.17(50) 0.19(60)
H B 8 HikwH2] —
B 0.27(50) |0.30(60) [0.27(50) 0.30(60) 0.17(50) 0.19(60)
F Il . 4% 4 7 VIBETFOHVE AR
R 1= rﬁfmﬁ P2 B TE
HERBE(m) 245
T v Y O U|IE B B O o PE T 5
X & B
%(PS/rDm}jj 4.2/2000
& o 1100~ 2000
I | N S B ACEEDCA % — % —
7 : |8 E A Y /GHP # 4 )L (GHP10W-30)
H B B e ow = .
R whE2 500 A4 4 VAHEE2, 100 7 4 L ¥ RHRERS, 200
BED—SF Yons—7 MZFLr7ya—NL)
o KGR K 2(cm) 7.300( 5 m ECASHE)
BE REgas 50410 © —35
2 ok R v 7 E R v 5oy bREER Y 7
e Dr | ERA X8 TuRIANT 7 X1
y 2 I S - 13A, LPG(FEH 7a,t),6C
13A 0.25~0.50(3) / 0.23~0.44 (8%)
i W H A NE S !
LPG 0.12~0,23(¥) / 0.11~0.20(8%)
(Nm /hr)
6C 0.59~1.17(3%) / 0.54~1.03(82)

g Hh & E ¥ & VAL R ERE)




dl

[ B BRI WY R =4 1w bk
ix) = | YGEANDWSTED YGEANDW-2(UTEY | YGCAO3WD,YGCA03WRD,YCGCA03WLD
R =, — H—%y—R
B ¥ — _
E W #8
B E R R — DH HP-53
B 3
B Ry — 230
D 1! =2 T — 74 v F =T
70 5 B4 55 A 58 -7
i/ K H t
A% 2 0% T O ® IF T . GIE
zE a2 Iy v O A E IH
T 5 7 4 I 2 4+ g v —
v @ X8 vuy a7 7 X1 TRNRIRT 7 X2
) B —
@,
- (r?/min) = 15 40
7 2! ATy - RERRRET Y av 7y - REEREE Y
= B # 5
B8 * 1 2
E B
an paltlilh; 170 20X 2
2 45 R22
B L}
¥ A =g 2200( 5 m B )
R - S i:| Y s B - ¥ shER e RIE RS B EhigeR
bF B ¥l G BKBRE T &84 7 LK
253 =3 & dB(A) 31 (fm) 34 (95E,) 43 (Ga)Al) 50
BRI AE (mm) $12.7 $12.7
R g () $9.53 $9.53
AEEEBNE L iR
=K & E(mm) $12.7X2 $12.7X2
i & B R EKEEBUE ¥ M Fas 06T
g SO =N — PT1/2(# % ¥)
ﬁE’ﬁﬁﬂ%HﬂD — 414.0
Eliﬁ?:l%m%r:xﬁlj _ 48.0
FlL e ED 94% $ 16(VP16H:HE) $19.0
3 7L —  9.6Y7.8/0.6
Sk IR 3R e = —
Ao 7 — 8.4Y6.4/0.8




